FSTY 405 — Silviculture 11

Midterm, 23rd October 2002

Name:

Student number:

e Ensure that your name and student number are correctly entered above.

e Answer in the spaces provided after each question, writing down clearly
the intermediate steps. Use the reverse as scratch pad.

e Write clearly, and use ink, not pencil.
e Pages: 4. Questions: 3, worth 3 marks each.
e Time: 45 minutes.

o Info: Inzy = Inz + Iny , Inzy = ylnx , y = lnz & z =
eV, etV =¢%

1. Assume a simple yield function
V =19.8(H — 4.96) ,
with a site index model
H = 1.625(1 — ¢~ 00308%)2

V is volume in m3/ha, H top height in metres, ¢ age in years, and S is
the site index.



For site index 21, at what age does the volume reach 300 m3/ha?

200 z19.8 (K- ¥+96)
300 = K- ‘s

g

= 30 avaL = 19248
e lezs (- o))"
‘ ) - 0.03c%t
\/1.5&5 =1 -e
Z-o.ogoésf_; | = \/teab

—0.0368t = R (- \/’rE:)
'6 - = 'L‘<’ \/Ibzs >/0'DJDX b Lﬂ,ng

2. (a) What is stand density management, through what practices is it
performed?
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(b) Explain one ‘important trade—off in stand density management de-
cisions.
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3. Clutter et al present site index models as functions giving site index
(or its logarithm) in terms of age and top height. E.g.,

1

InS=InH+ 5.190(% -5

where S is site index (base age 25), H is top height, and A is age.

(a) Write the corresponding height function, giving top height in
terms of age and site index.
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(b) Ts this an anamorphic or polymorphic model? Explain.
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(c) Sketch a graph of H over S for several given ages. Scale does not
need to be right, but the form of the curves must be approximately
correct over the full range of S.

Hints: See item (b). Recall the second part of Lab 6 (VDYP), on
graphing functions with two independent variables.
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